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TQ whereIsTrig

ca
cro 5

ask patches [ set pcolor white ]

ask turtles

[
P
set calor black
set size 7
set pen-size ¥
fd who + &

]
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1. What is the heading of the turtle with WHO
#1? This heading the direction it is facing.
The heading is somewhere between 0 and
360 for all turties in NetLOGO. Remember: if
there are 16 turtles they are numbered 0, 1, 2,
vy 14, 151

. Where is the turtle with WHC #17 This means
the xcor and the ycor, i.e. the {xcor, ycor) or
{X, Y} location in the turtle grid.

. What is the heading of the turtle with WHO
H37?

. Where is the turtles with WHO #3. Itis the
highlighted turtle?

Assignment due on Friday, 11/21/2014 in class.
Turn in a hard copy (printout or hand-written
answers).

Example solution to a similar
problem will be handed out on
Monday, November 17, You must
show ALL your work. What does that
mean?

Show the entire process of solving
the problem from start to finish.

Understand the problem. Focus on
WHAT is given and WHAT is the goal
or desired result. Draw a picture.
Label the pieces of the puzzle clearly,

Develop a PLAN for HOW to solve it.
Figure out HOW to get from the given
facts or input to the desired goal or
result,

Translate your plan into a specific
solution. Show the algebra and
formulas.

Friday, November 14, 2014




Where 1s Waldé .

1. What is the heading of the turtle wzz‘h WHQ #1?

360/5 =[72]

2. Whe_re is the turtle with WHO #1? > hypotehuse =6 [who (1) + 5= 6]

90-72 = 18 >(x 6) sin(18) =% (x6) [y =185 (x 6) cos(18)- = (x6) Hx=35.71

3. Whatis the heading of the turtle with WHO #37

360/5 =72 72+ 72+ 72=[216

4. Where is the turtles with WHO #3? > hypoténuse‘ = 8 [who (3) + 5= 8]

© 270216=54 > (x8) sin(54)% x8) Sy =-647

 (x8) cos(54) (x8) x=-4.70

= Both are negative because they are in the 3™ quadrant.
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